

On new version of strong Hadamard exponential function

Haci Civciv and Ramazan Turkmen

Department of Mathematics, Faculty of Art and Science, Selçuk University, Konya,
Turkey

e-mail: hacicivciv@selcuk.edu.tr, rturkmen@selcuk.edu.tr

Received : August 8, 2007

Abstract. It is well known that the matrix versions of the familiar real and complex exponential functions are fundamental for the study of many aspects of matrix theory and matrix group theory. In this note, we first define the *strong Hadamard product* and the *strong Hadamard exponential function* for some special block matrices, and obtain various calculus formulas for the *strong Hadamard exponentials* of some special block triangular matrices. We then give an application of this product for block-diagonal matrix with a special tridiagonal Cauchy-Toeplitz matrix.

Key words: *Matrix Group; Hadamard Product; Matrix Functions.*

AMS (2000) Classification: 16S50; 15A15; 47A56.

1. Introduction

For any real-valued function f , one can define a corresponding matrix-valued function C on the space of real symmetric matrices by applying f to the eigenvalues in the spectral decomposition of A . Matrix functions play an important role in scientific computing and engineering. Well-known examples of matrix function include \sqrt{A} (the square root function of a positive semidefinite matrix), and e^A (the exponential function of a square matrix) [8]. Let A be an $n \times n$ real or complex matrix. By [2] the exponential of A , denoted by e^A or $\exp(A)$, is the $n \times n$ matrix given by the power series

$$e^A = \sum_{n \geq 0} \frac{1}{n!} A^n.$$

Löwner [13] first introduced the notion of matrix monotone functions in 1934. Two years later, Löwner's student Kraus [11] extended his work to matrix convex functions. The standard matrix analysis books of Bhata [5] and Horn and

Johnson [9] contain more historical notes and related literature on this class of matrix functions.

A notion that is useful in the study of matrix equations and other applications, and is of interest in its own right, is the *Kronecker product*, *direct product*, or *tensor product of matrices*. In [20], the Kronecker product of two matrices A and B of sizes $m \times n$ and $s \times t$, respectively, in over a field \mathbb{R} or \mathbb{C} is defined to be the following $(ms) \times (nt)$ matrix

$$A \otimes B = \begin{pmatrix} a_{11}B & a_{12}B & \cdots & a_{1n}B \\ a_{21}B & a_{22}B & \cdots & a_{2n}B \\ \vdots & \vdots & \ddots & \vdots \\ a_{n1}B & a_{n2}B & \cdots & a_{nn}B \end{pmatrix}.$$

The Hadamard product, or the Schur product, of two matrices A and B of the same size is defined to be the entrywise product

$$A \circ B = (a_{ij}b_{ij}),$$

(see [20]).

It is well known that if A and B are the $n \times n$ matrices, then the Hadamard product $A \circ B$ is a principal submatrix of the Kronecker product $A \otimes B$ lying on intersections of rows and columns $1, n+2, 2n+3, \dots, n^2$ (see [20]).

The Hadamard product arises in a wide variety of ways. Several examples, such as trigonometric moments of convolutions of periodic functions, products of integral equation kernels, the weak minimum principle in partial differential equations, and characteristic functions in probability theory are discussed in section (7.5) of [9]. The Hadamard unit matrix U is such a matrix whose all entries are 1 (the size of U being understood). The matrix A called *Hadamard invertible* if all its entries are non-zero. Then $A^{\circ-1} = (a_{ij}^{-1})$ is then called the Hadamard inverse of A .

A class of Hermitian matrices with a special positivity property arises naturally in many applications. Hermitian (and, in particular, real symmetric) matrices with this positivity property also provide one generalization to matrices of the notion of a positive number. This observation often provides insight into the properties and applications of positive semidefinite matrices. An n -by- n Hermitian matrix A is said to be *positive semidefinite* if

$$x^* Ax \geq 0 \text{ for all nonzero } x \in \mathbb{C}^n.$$

For a short survey of facts about real positive definite matrices see [10].

Bapat [3], [4] showed that if A is symmetric, while it has all positive entries and just one positive eigenvalue, then its Hadamard inverse $A^{\circ-1}$ is positive semidefinite. If A is a distance matrix, then the Hadamard square root of A has just one positive eigenvalue, and is invertible. This was proved most recently by Auer [1], and it had been proved by Schoenberg [15].

For A in $\mathbb{C}^{m \times n}$, the power series

$$\sum_{k=0}^{\infty} \frac{1}{k!} A^{\circ k},$$

converges normally (which means that the series of norms is convergent), since, for any matrix norm, it is well known that [14]

$$\|A \circ A\| \leq \|A\|^2,$$

and we have

$$\sum_{k=0}^{\infty} \left\| \frac{1}{k!} A^{\circ k} \right\| \leq \sum_{k=0}^{\infty} \frac{1}{k!} \|A\|^k = e^{\|A\|}.$$

Since $\mathbb{C}^{m \times n}$ is complete, the series is convergent, and the estimation above shows that it converges uniformly on every compact set. Its sum, denoted by $e^{\circ A}$, thus defines a continuous map $\exp : \mathbb{C}^{m \times n} \rightarrow \mathbb{C}^{m \times n}$, called the *exponential*. When $A \in \mathbb{R}^{m \times n}$, we have $e^{\circ A} \in \mathbb{R}^{m \times n}$.

Reams [18] proved that if $A \in \mathbb{R}^{n \times n}$ is positive semidefinite, then the Hadamard exponential

$$e^{\circ A} = U + A + \frac{A^{\circ 2}}{2!} + \frac{A^{\circ 3}}{3!} + \dots + \frac{A^{\circ n}}{n!} + \dots,$$

where U is the $n \times n$ Hadamard unit matrix, is positive semidefinite.

Let M be a square matrix of order tm partitioned as

$$M = \begin{bmatrix} M_{11} & M_{12} & \cdots & M_{1t} \\ M_{21} & M_{22} & \cdots & M_{2t} \\ \vdots & \vdots & \ddots & \vdots \\ M_{t1} & M_{t2} & \cdots & M_{tt} \end{bmatrix},$$

where M_{ij} is a square matrix of order m ($i, j = 1, 2, \dots, t$) and N be a square matrix of order tn partitioned as

$$N = \begin{bmatrix} N_{11} & N_{12} & \cdots & N_{1t} \\ N_{21} & N_{22} & \cdots & N_{2t} \\ \vdots & \vdots & \ddots & \vdots \\ N_{t1} & N_{t2} & \cdots & N_{tt} \end{bmatrix},$$

where N_{ij} is a square matrix of order n ($i, j = 1, 2, \dots, t$). In [16] Seberry and Zhang defined the operation \otimes as the follows:

$$M \otimes N = \begin{bmatrix} L_{11} & L_{12} & \cdots & L_{1t} \\ L_{21} & L_{22} & \cdots & L_{2t} \\ \vdots & \vdots & \ddots & \vdots \\ L_{t1} & L_{t2} & \cdots & L_{tt} \end{bmatrix},$$

where L_{ij} is a square matrix of order mn and

$$L_{ij} = M_{i1} \otimes N_{1j} + M_{i2} \otimes N_{2j} + \dots + M_{it} \otimes N_{tj},$$

where \otimes is Kronecker product, $i, j = 1, 2, \dots, t$. This product is called as the strong Kronecker product.

The strong Kronecker product is developed in [16] and supported the analysis of certain orthogonal matrix multiplication problems. The strong Kronecker product is considered a powerful matrix multiplication tool for Hadamard and other orthogonal matrices from combinatorial theory [12].

In the second section of this paper we introduce the *strong Hadamard product* and the *strong Hadamard exponential* of some special block matrices, and obtain various calculus formulas for the strong exponentials of some special block triangular matrices. In the third section of this paper we give an application of this product for block-diagonal matrix with a special tridiagonal Cauchy-Toeplitz matrix.

2. The new version of the strong Hadamard exponential function

Definition 1. Let D and E be a real matrices partitioned as

$$D = \begin{bmatrix} D_{11} & D_{12} \\ D_{21} & D_{22} \end{bmatrix} \quad \text{and} \quad E = \begin{bmatrix} E_{11} & E_{12} \\ E_{21} & E_{22} \end{bmatrix}$$

where D_{ij} and E_{ij} , $1 \leq i, j \leq 2$, are same size matrices. The strong Hadamard product $D \odot E$ of the matrices D and E is defined as

$$D \odot E = \begin{bmatrix} F_{11} & F_{12} \\ F_{21} & F_{22} \end{bmatrix}$$

where $F_{ij} = \sum_{k=1}^2 D_{ik} \circ E_{kj}$.

Definition 2. Let H be a real matrix partitioned as

$$H = \begin{pmatrix} H_{11} & H_{12} \\ H_{21} & H_{22} \end{pmatrix}$$

where H_{ij} , $1 \leq i, j \leq 2$, are $m \times n$ matrices. The strong exponential of H , denoted by $e^{\odot H}$ or $\exp^{\odot}(H)$, is the $2m \times 2n$ matrix given by the power series

$$(2.1) \quad e^{\odot H} = \sum_{n \geq 0} \frac{1}{n!} H^{\odot n} = U + \frac{H}{1!} + \frac{H^{\odot 2}}{2!} + \dots + \frac{H^{\odot n}}{n!} + \dots,$$

where U is the $2m \times 2n$ Hadamard unit matrix.

In this study, for the matrix

$$(2.2) \quad M = \begin{pmatrix} A & B \\ 0 & U \end{pmatrix},$$

we also define

$$M^{\odot(0)} = \begin{pmatrix} U & U \\ 0 & U \end{pmatrix},$$

where $A = [a_{ij}]$, $B, U, 0 \in \mathbb{R}^{m \times n}$ and U is Hadamard unit matrix.

Theorem 3. Let M be matrix given in (2.2). For $a, b \in \mathbb{R}$,

$$e^{\odot(a+b)M} = \begin{pmatrix} e^{\odot[(a+b)A]} & U + \left\{ (a+b)U + \left[\sum_{n \geq 2} \frac{1}{n!} \sum_{k=0}^{n-1} (a+b)^{k+1} a_{ij}^k \right] \right\} \circ B \\ 0 & e^{\odot[(a+b)U]} \end{pmatrix},$$

when $a_{ij} \neq \frac{1}{a+b}$, $i = 1, 2, \dots, m$, $j = 1, 2, \dots, n$.

Proof : Let

$\Omega = e^{\odot(a+b)M} - \begin{pmatrix} U & U \\ 0 & U \end{pmatrix} - \begin{pmatrix} (a+b)A & (a+b)B \\ 0 & (a+b)U \end{pmatrix}$. By expanding the series Ω we get

$$\begin{aligned} \Omega &= \sum_{n \geq 2} \frac{1}{n!} \begin{pmatrix} (a+b)^n A^{\circ n} & \left[\sum_{k=0}^{n-1} (a+b)^{k+1} a_{ij}^k \right] \circ B \\ 0 & (a+b)^n U \end{pmatrix} \\ &= \begin{pmatrix} \sum_{n \geq 2} \frac{1}{n!} (a+b)^n A^{\circ n} & \left[\sum_{n \geq 2} \frac{1}{n!} \sum_{k=0}^{n-1} (a+b)^{k+1} a_{ij}^k \right] \circ B \\ 0 & \sum_{n \geq 2} \frac{1}{n!} (a+b)^n U \end{pmatrix} \\ &= \begin{pmatrix} \sum_{n \geq 2} \frac{1}{n!} \left(\sum_{r=0}^n \binom{n}{r} a^r b^{n-r} \right) A^{\circ n} & \left[\sum_{n \geq 2} \frac{1}{n!} \sum_{k=0}^{n-1} (a+b)^{k+1} a_{ij}^k \right] \circ B \\ 0 & \sum_{n \geq 2} \frac{1}{n!} \left(\sum_{r=0}^n \binom{n}{r} a^r b^{n-r} \right) U \end{pmatrix} \\ &= \begin{pmatrix} \sum_{n \geq 2, s \geq 2} \frac{a^r b^s}{r!s!} A^{\circ(r+s)} & \left[\sum_{n \geq 2} \frac{1}{n!} \sum_{k=0}^{n-1} (a+b)^{k+1} a_{ij}^k \right] \circ B \\ 0 & \sum_{n \geq 2, s \geq 2} \frac{a^r b^s}{r!s!} U \end{pmatrix} \\ &= \begin{pmatrix} \left(\sum_{n \geq 2} \frac{a^r}{r!} A^{\circ r} \right) \circ \left(\sum_{s \geq 2} \frac{a^s}{s!} A^{\circ s} \right) & \left[\sum_{n \geq 2} \frac{1}{n!} \sum_{k=0}^{n-1} (a+b)^{k+1} a_{ij}^k \right] \circ B \\ 0 & \left(\sum_{n \geq 2} \frac{a^r}{r!} U \right) \circ \left(\sum_{s \geq 2} \frac{a^s}{s!} U \right) \end{pmatrix}. \end{aligned}$$

Consequently, we get

$$\begin{aligned}
e^{\odot(a+b)M} &= \begin{pmatrix} e^{\circ(aA)} \circ e^{\circ(bA)} & U + (a+b)B + \left[\sum_{n \geq 2} \frac{1}{n!} \sum_{k=0}^{n-1} (a+b)^{k+1} a_{ij}^k \right] \circ B \\ 0 & e^{\circ(aU)} \circ e^{\circ(bU)} \end{pmatrix} \\
&= \begin{pmatrix} e^{\circ[(a+b)A]} & U + (a+b)B + \left[\sum_{n \geq 2} \frac{1}{n!} \sum_{k=0}^{n-1} (a+b)^{k+1} a_{ij}^k \right] \circ B \\ 0 & e^{\circ[(a+b)U]} \end{pmatrix},
\end{aligned}$$

which proves Theorem 3.

Corollary 4. *Let M be matrix given in (2.2). Then*

$$e^{\odot M} = \begin{pmatrix} e^{\circ A} & U + \left\{ U + \left[\sum_{n \geq 2} \frac{1}{n!} \sum_{k=0}^{n-1} a_{ij}^k \right] \right\} \circ B \\ 0 & e^{\circ U} \end{pmatrix},$$

when $a_{ij} \neq 1$, $i = 1, 2, \dots, m$, $j = 1, 2, \dots, n$.

Proof : The proof is similar to the proof of Theorem 3, and we only show an outline of it. Let

$$\Phi = e^{\odot M} - \begin{pmatrix} U & U \\ 0 & U \end{pmatrix} - \begin{pmatrix} A & B \\ 0 & U \end{pmatrix}.$$

By expanding the series Φ and performing a sequence of manipulations we obtain

$$\begin{aligned}
\Phi &= \sum_{n \geq 2} \frac{1}{n!} M^{\odot n} \\
&= \sum_{n \geq 2} \frac{1}{n!} \begin{pmatrix} A^{\circ n} & (A^{\circ(n-1)} + A^{\circ(n-2)} + \dots + U) \circ B \\ 0 & U \end{pmatrix}.
\end{aligned}$$

Hence, we have

$$e^{\odot M} = \begin{pmatrix} e^{\circ A} & U + B + \left[\sum_{n \geq 2} \frac{1}{n!} \sum_{k=0}^{n-1} a_{ij}^k \right] \circ B \\ 0 & e^{\circ U} \end{pmatrix}.$$

This completes the proof.

Corollary 5. *Let M be matrix given in (2.2). Then*

$$e^{\odot(-M)} = \begin{pmatrix} (e^{\circ A})^{\circ-1} & U - \left\{ U + \left[\sum_{n \geq 2} \frac{1}{n!} \sum_{k=0}^{n-1} (-a_{ij})^k \right] \right\} \circ B \\ 0 & (e^{\circ U})^{\circ-1} \end{pmatrix},$$

when $a_{ij} \neq -1$, $i = 1, 2, \dots, m$, $j = 1, 2, \dots, n$.

Proof : Corollary 5 follows from Theorem 3.

Theorem 6. *Let*

$$M_1 = \begin{pmatrix} A_1 & B_1 \\ 0 & U \end{pmatrix} \text{ and } M_2 = \begin{pmatrix} A_2 & B_2 \\ 0 & U \end{pmatrix},$$

where $A_1 = [a_{ij}^{(1)}]$, $A_2 = [a_{ij}^{(2)}]$, $B_1, B_2, U, 0 \in \mathbb{R}^{m \times n}$ and U is Hadamard unit matrix. Then

$$e^{\circ(M_1+M_2)} = \begin{pmatrix} e^{\circ(A_1+A_2)} & U + \left\{ U + \left[\sum_{n \geq 2} \frac{1}{n!} \sum_{k=0}^{n-1} 2^{n-1-k} \left(a_{ij}^{(1)} + a_{ij}^{(2)} \right)^k \right] \right\} \circ (B_1+B_2) \\ 0 & e^{\circ(2U)} \end{pmatrix},$$

when $a_{ij}^{(1)} + a_{ij}^{(2)} \neq 1$, $i = 1, 2, \dots, m$, $j = 1, 2, \dots, n$.

Proof : Let

$\Psi = e^{\circ(M_1+M_2)} - \begin{pmatrix} U & U \\ 0 & U \end{pmatrix} - \begin{pmatrix} A_1 + A_2 & B_1 + B_2 \\ 0 & U \end{pmatrix}$. From (2.1), we get

$$\begin{aligned} \Psi &= \sum_{n \geq 2} \frac{1}{n!} \begin{pmatrix} (A_1 + A_2)^{\circ n} & \left[\sum_{k=0}^{n-1} 2^{n-1-k} \left(a_{ij}^{(1)} + a_{ij}^{(2)} \right)^k \right] \circ (B_1 + B_2) \\ 0 & (U + U)^{\circ n} \end{pmatrix} \\ &= \begin{pmatrix} \sum_{n \geq 0} \frac{1}{n!} \left(\sum_{r=0}^n \binom{n}{r} A_1^{\circ r} A_2^{\circ(n-r)} \right) & * \\ 0 & \sum_{n \geq 0} \frac{1}{n!} \left(\sum_{r=0}^n \binom{n}{r} U^{\circ r} U^{\circ(n-r)} \right) \end{pmatrix} \\ &= \begin{pmatrix} \left(\sum_{n \geq 0} \frac{1}{r!} A_1^{\circ r} \right) \circ \left(\sum_{s \geq 0} \frac{1}{s!} A_2^{\circ s} \right) & * \\ 0 & \left(\sum_{n \geq 0} \frac{1}{r!} U \right) \circ \left(\sum_{s \geq 0} \frac{1}{s!} U \right) \end{pmatrix} \\ &= \begin{pmatrix} e^{\circ(A_1)} \circ e^{\circ(A_2)} & * \\ 0 & e^{\circ(U)} \circ e^{\circ(U)} \end{pmatrix} \\ &= \begin{pmatrix} e^{\circ(A_1+A_2)} & * \\ 0 & e^{\circ(2U)} \end{pmatrix}, \end{aligned}$$

where the matrix $*$ is $\left[\sum_{n \geq 2} \frac{1}{n!} \sum_{k=0}^{n-1} 2^{n-1-k} \left(a_{ij}^{(1)} + a_{ij}^{(2)} \right)^k \right] \circ (B_1 + B_2)$. From this, the proof is completed.

For Theorem 8, we need to give the following theorem:

Theorem 7. *Let M be a square complex matrix partitioned as*

$$M = \begin{pmatrix} A & B \\ C & D \end{pmatrix},$$

where A, B, C , and D are $m \times m, m \times n, n \times m$ and $n \times n$ matrices, respectively. Then,

$$\det M = \begin{cases} \det A \det (D - CA^{-1}B), & \text{if } A \text{ is invertible} \\ \det (AD - CB), & \text{if } AC = CA \end{cases}.$$

Theorem 8. Let

$$M = \begin{pmatrix} A & B \\ 0 & I \end{pmatrix},$$

where $A = [a_{ij}], B, I, 0 \in \mathbb{R}^{n \times n}$ and I is the ordinary identity matrix. If A is positive semidefinite matrix, then

$$\det (e^{\odot M}) \leq e^{n+trA},$$

where trA is trace of the matrix A .

Proof. From (2.1) we write

$$e^{\odot M} = \begin{pmatrix} e^{\odot A} & * \\ 0 & e^{\odot I} \end{pmatrix},$$

where the matrix $*$ is $U + B + [A^{\circ(n-1)} + (A^{\circ(n-2)} + A^{\circ(n-3)} \dots + A^{\circ 0}) \circ I] \circ B$, $n \geq 2$, with $A^{\circ 0} = U$. Here, U is the Hadamard unit matrix. Since A is positive semidefinite matrix, evidently, $e^{\odot A} = U + A + \frac{1}{2!}A^{\circ 2} + \dots$ is positive semidefinite (see [18]). Similarly, $e^{\odot I}$ is positive semidefinite. From the definition of the strong Hadamard exponential function and Theorem 7, it is written immediately that

$$\det (e^{\odot M}) = \det e^{\odot A} \det e^{\odot I}.$$

Let $D = \text{diag} (e^{-\frac{1}{2}a_{11}}, e^{-\frac{1}{2}a_{22}}, \dots, e^{-\frac{1}{2}a_{nn}})$. Let Λ be a matrix such that $\Lambda = De^{\odot A}D$. Then Λ is a positive semidefinite matrix with diagonal entries all equal to 1. From the arithmetic-geometric mean inequality, it follows

$$n = tr\Lambda = \sum \lambda_i(\Lambda) \geq n \left[\prod_{i=1}^n \lambda_i(\Lambda) \right]^{\frac{1}{n}} = n (\det \Lambda)^{\frac{1}{n}},$$

(also see [20], p.176). This implies $\det (\Lambda) \leq 1$. Thus,

$$\det e^{\odot A} = \det (D^{-1}\Lambda D^{-1}) = \prod_{i=1}^n e^{a_{ii}} \det \Lambda \leq \prod_{i=1}^n e^{a_{ii}}.$$

Similarly, we obtain

$$\det e^{\odot I} \leq e^n.$$

Consequently,

$$\det (e^{\odot M}) \leq e^{n+trA},$$

where trA is trace of the matrix A .

3. More on the strong Hadamard exponential function

A Cauchy-Toeplitz matrix is a matrix that is both a Cauchy matrix (i.e. $\left[\frac{1}{x_i - y_j}\right]_{i,j=1}^n, x_i \neq y_j$) and a Toeplitz matrix (i.e. $(z_{i-j})_{i,j=1}^n$) such that

$$T_n(g, h) = \left[\frac{1}{g + (i-j)h} \right]_{i,j=1}^n,$$

where g and $h \neq 0$ are arbitrary numbers and g/h is not integer.

Parter [17] has given a qualitative explanation of phenomena which is that most of singular values (first 20) of the Cauchy-Toeplitz matrix $T_n(1/2, 1)$ were equal to $\pi - \varepsilon$ with ε very small.. Tyrtysnikov [19] has shown that minimal singular values of the Cauchy-Toeplitz matrix $T_n(1/2, 1)$ converge to zero with increasing n .

The interest of the study of tridiagonal Toeplitz matrices appears to be very important not only from a theoretical point of view (in linear algebra or numerical analysis), but also in applications. For instance, it is useful in the study of sound propagation problems [6].

A positive tridiagonal Cauchy-Toeplitz matrix is the $n \times n$ tridiagonal matrix with entries $m_{k,k} = 1/g, 1 \leq k \leq n$, and $m_{k-1,k} = m_{k,k-1} = 1/(g+h), 2 \leq k \leq n$, that is,

$$(3.1) \quad T_n(g, h) = \begin{pmatrix} 1/g & 1/(g+h) & & & \\ 1/(g+h) & 1/g & & & \\ & & \ddots & & \\ & & & \ddots & \\ & & & & 1/(g+h) & 1/g \end{pmatrix},$$

where g and $h \neq 0$ are arbitrary numbers and g/h is not integer.

Let T_n be matrix given in (3.1). In this section, we will use the notation $T = T_n(1/2, 1)$.

Theorem 9. Let $N = \begin{pmatrix} T & 0 \\ 0 & T \end{pmatrix}$. Then $e^{\odot N}$ and $e^{\odot(-N)}$ are positive semidefinite.

Proof. From (2.1), we obtain

$$e^{\odot N} = \begin{pmatrix} e^{\circ T} & 0 \\ 0 & e^{\circ T} \end{pmatrix}$$

and

$$e^{\odot(-N)} = \begin{pmatrix} (e^{\circ T})^{\circ-1} & 0 \\ 0 & (e^{\circ T})^{\circ-1} \end{pmatrix}.$$

We now introduce a sequence of matrices $\{G_n, n = 1, 2, \dots\}$, where G_n is the $n \times n$ tridiagonal matrix with entries $g_{k,k} = 0$, $1 \leq k \leq n$, and $g_{k-1,k} = g_{k,k-1} = 1$, $2 \leq k \leq n$. That is,

$$G_n = \begin{pmatrix} 0 & 1 & & & \\ 1 & 0 & 1 & & \\ & 1 & 0 & \ddots & \\ & & \ddots & \ddots & 1 \\ & & & 1 & 0 \end{pmatrix}.$$

Then, note that $T = 2I_n + \frac{2}{3}G_n$. Let λ_k , $k = 1, 2, \dots, n$, be the eigenvalues of the matrix G_n (with associated eigenvectors x_k). Then, for each j ,

$$\begin{aligned} Tx_j &= \left[2I_n + \frac{2}{3}G_n \right] x_j \\ &= \left[2 + \frac{2}{3}\lambda_k \right] x_j. \end{aligned}$$

Therefore, $\theta_k = 2 + \frac{2}{3}\lambda_k$, $k = 1, 2, \dots, n$, are the eigenvalues of T . Since it was determined the λ_k 's as

$$\lambda_k = -2 \cos \frac{\pi k}{n+1}, \quad k = 1, 2, \dots, n$$

in [7], evidently, $e^{\circ T} = U + T + \frac{1}{2!}T^{\circ 2} + \dots$ is positive semidefinite, where U is the Hadamard unit matrix. Therefore, we also get that the matrix $e^{\circ N}$ is positive semidefinite. Also, since $e^{\circ T}$ have positive entries and just one positive eigenvalue, the Hadamard inverse $(e^{\circ T})^{\circ -1}$ is positive semidefinite. Thus, $e^{\circ(-N)}$ is positive semidefinite.

References

1. J. W. Auer, An elementary proof of the invertibility of distance matrices, *Linear and Multilinear Algebra*, 40, 119-124, 1995.
2. A. Baker, *Matrix groups; An introduction to Lie group theory*, Springer-Verlag, London, 2002.
3. R. B. Bapat, Multinomial probabilities, permanents and a conjecture of Karlin and Rinott, *Proc. Amer. Math. Soc.*, 102(3): 467-472, 1988.
4. R. B. Bapat and T. E. S. Raghavan, *Nonnegative matrices and applications*, encyclopedia of mathematics and its applications, No. 64, Cambridge Uni. Press, 1997.
5. R. Bhatia, *Matrix Analysis*, Graduate Texts in Mathematics, Springer-Verlag, New York, 1997.
6. S. N. Chandler-Wilde and M. J. C. Gover, On the application of a generalization of Toeplitz matrices to the numerical solution of integral equations with weakly singular convolution kernels, *IMA J. Numer. Anal.* 9, 525-544, 1989.

7. N. D. Cahill, J. R. D'Ericco and J. P. Spence, Complex factorizations of the Fibonacci and Lucas numbers, *The Fibonacci Quarterly*, 41, 1, 13-19, 2003.
8. E.P. Fulmer. Computation of the Matrix Exponential, *American Math Monthly*, 82,156–159, 1975.
9. R. A. Horn and C. R. Johnson, *Topics in Matrix Analysis*, Cambridge University Press, Cambridge, 1991.
10. C. R. Johnson, Positive definite matrices, *Amer. Math. Monthly*, 77, 249-264, 1970.
11. F. Kraus, Über konvexe matrix functionen, *Math. Zeit.* 41, 18-42, 1936.
12. W. D. Launey and J. Seberry, The strong Kronecker product, *Journal of Combinatorial Theory, Series A*, 66(2), 192-213, 1994.
13. K. Löwner, Über monotone matrix functionen, *Math. Zeit.* 38, 177-216, 1934.
14. R. Mathias, The spectral norm of a nonnegative matrix, *Linear Algebra Appl.*, 131, 269-284, 1990.
15. I. J. Schoenberg, On certain metric spaces arising from Euclidean space by a change of metric and their imbedding in Hilbert space, *Ann. of Math.*, 38(4), 787-793, 1937.
16. J. Seberry, X-M. Zhang, Some orthogonal matrices constructed by strong Kronecker product multiplication, *Austral. J. Combin.* 7, 213–224, 1993.
17. S. V. Parter, On the distribution of the singular values of Toeplitz matrices, *Linear Algebra and its Applications*, 80, 115–130, 1986.
18. R. Reams, Hadamard inverses, square roots and products of almost semidefinite matrices, *Linear Alg. and its Appl.*, 288, 35-43, 1999.
19. E. E. Tyrtyshnikov, Cauchy–Toeplitz matrices and some applications, *Linear Algebra and its Applications*, 149, 1-18, 1999.
20. F. Zhang, *Matrix Theory; Basic results and techniques*, Springer-Verlag, New York, 1999.